MaTH 121 FeB. 13-15, 2010

Quiz 2 |

Do not omit scratch work. [ need to see all steps. Skipping details will result in a loss of credit

Thanlks and enjoy. This quiz is due by the start of class Monday Feb. 15, 2010. I you cannot make it
to lecture then you may also turn this quiz in at my office before lecture (just leave it in one of the boxes).

Problem 1 [30pts] Factor the polynomials below as much as is possible over R.

(a.) fi(z)=2"+52+6

= [X+3)(x+3) I

(b.) falz)=2a21-4
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(c) fola) = (@ + 22"~ (z+2)
= (x+2)(x* - 1)
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Problem 2 [40pts] For each of the functions given below draw the sign chart and then use the sign
chart to help sketch the graph of the given function.

(a) fi(z) = (z+4)" (= +2)%s(z — 1)
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Problem 3 [10pts] Let g{z) = 2* 4+ 32 4 82 + 122 -+ 16. Note that g(2i) = 0 where > = —1. Factor

g(x) by using a theorem about complex roots of real polynomials.

g(3) = o = glai)=o = (X-3)xrai) = m
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Problem 4 [20pts] Write down an example of a polynomial or rational function as instructed below:

(a.) polynomial function p(x) with zeros at z =1,2,7.

PGy = é<-—t)(><-~a‘)(><-—?)j

(b.) polynomial function g(x) with a complex zero @nd a real zero of z = 3 such that

the graph "bounces” at (3,0)

Gte) = i) (x-3)”

(c.) rational function f(x) with zero @ = 2 and vertical asymptotes » = 3 and o = —1
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(d.) rational function g(z) with no zeros and a single vertical asymptotes at x = 3 such that

Typeph(y) = (0,00).
\(M‘-gx_t%) = (¢, o)
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